
PRODUCTS CATALOGUE

2021
NOVEMBER





*NEW ITEM*

ELECTRONIC CONTROL UNIT

NAME  : ELECTRONIC CONTROL UNIT (V1)
CODE  : ECUS1Y15V1
COLOUR  : -
MODEL  : Y15ZR
NOTE  : XHFJXX

NAME  : ELECTRONIC CONTROL UNIT (V2)
CODE  : ECUS1Y15V2
COLOUR  : -
MODEL  : Y15ZR
NOTE  : XHFJXX

NAME  : ELECTRONIC CONTROL UNIT
CODE  : ECUS1R15
COLOUR  : -
MODEL  : RS150
NOTE  : XHFJXX

NAME  : ELECTRONIC CONTROL UNIT
CODE  : ECUS1Y16
COLOUR  : -
MODEL  : Y16ZR
NOTE  : XHFJXX



*NEW ITEM*

ELECTRONIC CONTROL UNIT

NAME  : WIDEBAND AIR/FUEL SENSOR MODULE
CODE  : WBAFR01
COLOUR  : -
MODEL  : -
NOTE  : XNPTXX

NAME  : CALIBRATION CABLE (USB)
CODE  : ECUCDUSB
COLOUR  : -
MODEL  : -
NOTE  : XBDFXX



EXHAUST
STANDARD OPEN

NAME  : EXHAUST STANDARD CUTTING OPEN 35MM  
CODE  : ESC35Y16
COLOUR  : -
MODEL  : Y16ZR
NOTE  : XDRJXX
  

*NEW ITEM*

O2 Sensor Ready



*NEW ITEM*

SLIPPER CLUTCH SET

NAME  : SLIPPER CLUTCH SET
CODE  : SLPCRS1
COLOUR  : -
MODEL  : RS150
NOTE  : XBFJXX
 : (10 FOC 1 CAN MIX)

NAME  : SLIPPER CLUTCH SET
CODE  : SLPCY15
COLOUR  : -
MODEL  : Y15ZR
NOTE  : XBDPXX
 : (10 FOC 1 CAN MIX)



*NEW ITEM*

EXHAUST
STANDARD OPEN

NAME  : EXHAUST STANDARD CUTTING OPEN 28MM
   WITH O2 SENSOR ADPATOR  
CODE  : ESC285YP
COLOUR  : -
MODEL  : LC135 (V6)
NOTE  : XDTJXX
  

NAME  : EXHAUST STANDARD CUTTING OPEN 32MM
   WITH O2 SENSOR ADPATOR  
CODE  : ESC325YP
COLOUR  : -
MODEL  : LC135 (V6)
NOTE  : XDDJXX
  

NAME  : EXHAUST SILENCER STANDARD CUTTING 
CODE  : ESSC01
COLOUR  : -
MODEL  : -
NOTE  : XDTXX
  

O2 Sensor Ready

Stainless Steel Manufacturer



NAME  : FLAT STLYE SEAT ASSY
CODE  : SFS01Y15
COLOUR  : -
MODEL  : Y15ZR
NOTE  : XXLPXX

RACING SEATRACING SEAT

NAME  : FLAT STLYE SEAT ASSY
CODE  : SFS01RS1
COLOUR  : -
MODEL  : RS150
NOTE  : XXLPXX

NAME  : FLAT STLYE SEAT ASSY
CODE  : SFS011VP
COLOUR  : -
MODEL  : SRL115-Fi
NOTE  : XXLPXX

NAME  : FLAT STLYE SEAT ASSY
CODE  : SFS01550
COLOUR  : -
MODEL  : LC135(V2-V6)
NOTE  : XXLPXX





NAME : ALLOY HANDLE GRIP
CODE : AHG04GL
COLOUR : GOLD
MODEL : -
NOTE : XXBTJX

NAME : ALLOY HANDLE GRIP
CODE : AHG04SL
COLOUR : SILVER
MODEL : -
NOTE : XXBTJX

ALLOY HANDLE GRIP





















MAGNETO DRY PLATE

NAME : DRY PLATE
CODE : MDPFU1RD
COLOUR : RED
MODEL : BELANG
NOTE : XBHJXX

NAME : DRY PLATE
CODE : MDPFU1OR
COLOUR : ORANGE
MODEL : BELANG
NOTE : XBHJXX

NAME : DRY PLATE
CODE : MDPFU1GL
COLOUR : GOLD
MODEL : BELANG
NOTE : XBHJXX



MAGNETO DRY PLATE

NAME : MAGNETO DRY PLATE
CODE : MDPY15RD
COLOUR : -
MODEL : Y15ZR
NOTE : XBHJXX









 MAGNETIC OIL DRAIN PLUG
SUZUKI

8mm
magnet size

NAME : M12 X 1.25 
                        MAGNETIC OIL 
                        DRAIN PLUG
CODE : OSNSUZRD
COLOUR : RED
MODEL : SUZUKI
NOTE : XXBDJX

NAME : M12 X 1.25  
                        MAGNETIC OIL 
                        DRAIN PLUG
CODE : OSNSUZBK
COLOUR : BLACK
MODEL : SUZUKI
NOTE : XXBDJX

NAME : M12 X 1.25  
                        MAGNETIC OIL 
                        DRAIN PLUG
CODE : OSNSUZBL
COLOUR : BLUE
MODEL : SUZUKI
NOTE : XXBDJX

NAME : M12 X 1.25  
                        MAGNETIC OIL 
                        DRAIN PLUG
CODE : OSNSUZGL
COLOUR : GOLD
MODEL : SUZUKI
NOTE : XXBDJX

NAME : M12 X 1.25  
                        MAGNETIC OIL 
                        DRAIN PLUG
CODE : OSNSUZOR
COLOUR : ORANGE
MODEL : SUZUKI
NOTE : XXBDJX

NAME : M12 X 1.25  
                        MAGNETIC OIL 
                        DRAIN PLUG
CODE : OSNSUZPP
COLOUR : PURPLE
MODEL : SUZUKI
NOTE : XXBDJX

NAME : M12 X 1.25  
                        MAGNETIC OIL 
                        DRAIN PLUG
CODE : OSNSUZSL
COLOUR : SILVER
MODEL : SUZUKI
NOTE : XXBDJX

NAME : M12 X 1.25  
                        MAGNETIC OIL 
                        DRAIN PLUG
CODE : OSNSUZTI
COLOUR : TITANIUM
MODEL : SUZUKI
NOTE : XXBDJX







ABSORBER

NAME  : SHOCK ABSORBER ADJUSTABLE WITH GAS TANK
CODE  : AWGT01RS1
COLOUR  : -
MODEL  : RS150
NOTE  : XBJJTXX

NAME  : SHOCK ABSORBER ADJUSTABLE
CODE  : AWG01RS1
COLOUR  : -
MODEL  : RS150
NOTE  : XNPTXX

NAME  : SHOCK ABSORBER ADJUSTABLE
CODE  : AWG01Y15
COLOUR  : -
MODEL  : Y15ZR
NOTE  : XNPTXX









SPORT RIM

NAME : SPORT RIM S-LINE S5
CODE : SRS5RS1WH
COLOUR : WHITE
MODEL : RS150
NOTE : XFHJXX
   FR-185 x 17 / RR-275 x 17

**DISC PLATE INCLUDED
**RS150 ONLY









AIR CUT
VALVE COVER

NAME : AIR CUT VALVE COVER
CODE : ACVC5YPRD
COLOUR : RED
MODEL : LC135
NOTE : XXBPJX

NAME : AIR CUT VALVE COVER
CODE : ACVC5YPSL
COLOUR : SILVER
MODEL : LC135
NOTE : XXBPJX

NAME : AIR CUT VALVE COVER
CODE : ACVC5YPGL
COLOUR : GOLD
MODEL : LC135
NOTE : XXBPJX

NAME : AIR CUT VALVE COVER
CODE : ACVC5YPBL
COLOUR : BLUE
MODEL : LC135
NOTE : XXBPJX

NAME : AIR CUT VALVE COVER
CODE : ACVC5YPTI
COLOUR : TITANIUM
MODEL : LC135
NOTE : XXBPJX









NAME : RACING TENSIONER
CODE : TAALC135
COLOUR : GOLD
MODEL : LC135
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAALC135
COLOUR : SILVER
MODEL : LC135
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAALC135
COLOUR : BLUE
MODEL : LC135
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAALC135
COLOUR : RED
MODEL : LC135
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAALC135
COLOUR : TITANIUM
MODEL : LC135
NOTE : XBJJX

RACING TENSIONER
LC135



RACING TENSIONER
KRISS

NAME : RACING TENSIONER
CODE : TAAKRISS
COLOUR : GOLD
MODEL : KRISS
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAAKRISS
COLOUR : SILVER
MODEL : KRISS
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAAKRISS
COLOUR : RED
MODEL : KRISS
NOTE : XBJJX

NOTE : 

NAME : RACING TENSIONER
CODE : TAAKRISS
COLOUR : BLUE
MODEL : KRISS

XBJJX

NAME : RACING TENSIONER
CODE : TAAKRISS
COLOUR : TITANIUM
MODEL : KRISS
NOTE : XBJJX



NAME : RACING TENSIONER
CODE : TAAW125
COLOUR : RED
MODEL : W125 & RS150
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAAW125
COLOUR : BLUE
MODEL : W125 & RS150
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAAW125
COLOUR : TITANIUM
MODEL : W125 & RS150
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAAW125
COLOUR : SILVER
MODEL : W125 & RS150
NOTE : XBJJX

NAME : RACING TENSIONER
CODE : TAAW125
COLOUR : GOLD
MODEL : W125 & RS150
NOTE : XBJJX

RACING TENSIONER
W125



RACING TENSIONER ASSEMBLY
Y15ZR

 

 

NAME : RACING TENSIONER
  ASSEMBLY

CODE : TARY15GL
COLOUR : GOLD
MODEL : Y15ZR
NOTE : XXBJJX

 
NAME : RACING TENSIONER

  ASSEMBLY
CODE : TARY15RD
COLOUR : RED
MODEL : Y15ZR
NOTE : XXBJJX

  
NAME : RACING TENSIONER

  ASSEMBLY
CODE : TARY15BL
COLOUR : BLUE
MODEL : Y15ZR
NOTE : XXBJJX

NAME : RACING TENSIONER
  ASSEMBLY

CODE : TARY15TI
COLOUR : TITANIUM
MODEL : Y15ZR
NOTE : XXBJJX

NAME : RACING TENSIONER
  ASSEMBLY

CODE : TARY15SL
COLOUR : SILVER
MODEL : Y15ZR
NOTE : XXBJJX



NAME  : WATER PUMP COVER
CODE  : WPC01BKR15
COLOUR  : BLACK
MODEL  : R15-Y16-NVX
NOTE  : XXRJXX

RACING SEATWATER PUMP COVER

NAME  : WATER PUMP COVER
CODE  : WPC01GLR15
COLOUR  : GOLD
MODEL  : R15-Y16-NVX
NOTE  : XXRJXX

























RACING VALVE SET

NAME : RACING VALVE SET 24/22
CODE : VSI24E225YP
COLOUR : -
MODEL : LC135
NOTE : BDJXX

NAME : RACING VALVE SET 22/19
CODE : VSI22E195YP
COLOUR : -
MODEL : LC135 / Y15ZR
NOTE : BHJXX

NAME : RACING VALVE SET 25/22
CODE : VSI25E225YP
COLOUR : -
MODEL : LC135 / Y15ZR
NOTE : BDJXX

NAME : RACING VALVE SET 23/20
CODE : VSI23E205YP
COLOUR : -
MODEL : LC135 / Y15ZR
NOTE : BDJXX







BLOCK RACING 
(CERAMIC) 

NAME  : BLOCK RACING SET FORGED DOME 62MM
CODE  : BRFD62Y15
COLOUR  : -
MODEL  : Y15ZR 
NOTE  : XFRJXX 

69mm

27
.5

m
m









BLOCK RACING 
(CERAMIC) 

NAME  : BLOCK RACING SET 67mm
CODE  : BRF675YP
COLOUR  : -
MODEL  : LC135 
NOTE  : XHBTXX 

NAME  : BLOCK RACING SET 68mm
CODE  : BRF685YP 
COLOUR  :  -
MODEL  : LC135 
NOTE  : XHDTXX 

72mm

23
m

m











CARBURETOR SILICONE JOINT

NAME : CARBURETOR SILICONE JOINT
CODE : CSJ35
COLOUR : 
MODEL : 35MM
NOTE : XDTJX

NAME : CARBURETOR SILICONE JOINT
CODE : CSJ41
COLOUR : 
MODEL : 41MM
NOTE : XDDXX

NAME : CARBURETOR SILICONE JOINT
CODE : CSJ45
COLOUR : 
MODEL : 45MM
NOTE : XDJJX

COLOUR : 

NAME : CARBURETOR SILICONE JOINT
CODE : CSJ35T38

MODEL : 35MM-38MM
NOTE : XDTJX



NAME : RACING CLUTCH W/ALUM PLATE
CODE : CPRWAK1
COLOUR : -
MODEL : KRISS
NOTE : XXLPXX

NAME : RACING CLUTCH W/ALUM PLATE
CODE : CPRWA5TN
COLOUR : -
MODEL : SRL
NOTE : XXLPXX

NAME : RACING CLUTCH W/ALUM PLATE
CODE : CPRWAKRR
COLOUR : -
MODEL : KRR150
NOTE : XXPJXX

NAME : RACING CLUTCH W/ALUM PLATE
CODE : CPRWAKPH
COLOUR : -
MODEL : W125
NOTE : XXLJXX

NAME : RACING CLUTCH W/ALUM PLATE
CODE : CPRWAKWB
COLOUR : -
MODEL : W110
NOTE : XXJJXX

RACING CLUTCH PLATE
W/ALUM PLATE



RACING CLUTCH SPRING (SP)

NAME : RACING CLUTCH SPRING (SP)
CODE : RCSSPKR1
COLOUR : -
MODEL : KRISS
NOTE : XXBRJX

NAME : RACING CLUTCH SPRING (SP)
CODE : RCSSP5TN
COLOUR : -
MODEL : SRL
NOTE : XXBNJX

NAME : RACING CLUTCH SPRING (SP)
CODE : RCSSPKPH
COLOUR : -
MODEL : W125
NOTE : XXDHJX

NAME : RACING CLUTCH SPRING (SP)
CODE : RCSSP5GU
COLOUR : -
MODEL : Y125Z
NOTE : XXBNJX

NAME : RACING CLUTCH SPRING (SP)
CODE : RCSSPKFV
COLOUR : -
MODEL : W100 & DREAM
NOTE : XXBNJX

NAME : RACING CLUTCH SPRING (SP)
CODE : RCSSP5YP
COLOUR : -
MODEL : LC135
NOTE : XXDDJX

34.6KG
@ 20MM

Compression Pressure

46.4KG
@ 24MM

Compression Pressure

18.2KG
@ 19MM

Compression Pressure

13.2KG
@ 16MM

Compression Pressure

30.4KG
@ 16MM

Compression Pressure

36.5KG
@ 24MM

Compression Pressure



NAME : RACING CLUTCH SPRING (SP)
CODE : RCSSPRS1
COLOUR : -
MODEL : RS150
NOTE : XXBNJX

43.1KG
@ 18MM

Compression Pressure

NAME : RACING CLUTCH SPRING (SP)
CODE : RCSSPY15
COLOUR : -
MODEL : Y15ZR
NOTE : XXDDJX

27.8KG
@ 28MM

Compression Pressure

NAME : RACING CLUTCH SPRING (SP)
CODE : RCSSPGN5
COLOUR : -
MODEL : EX5
NOTE : XXBNJX

37.3KG
@ 20.5MM

Compression Pressure

RACING CLUTCH SPRING (SP)











NAME : EXHAUST STANDARD OPEN 28MM
CODE : ESC28Y15
COLOUR : -
MODEL : Y15ZR
NOTE : XDFJXX

NAME : EXHAUST STANDARD OPEN 32MM
CODE : ESC32Y15
COLOUR : -
MODEL : Y15ZR
NOTE : XDFJXX

EXHAUST
STANDARD OPEN



NAME : EXHAUST STANDARD OPEN 35 MM
CODE : ESC35Y15
COLOUR : -
MODEL : Y15ZR
NOTE : XDRJXX

NAME : EXHAUST STANDARD OPEN 35 MM
CODE : ESC35RS1
COLOUR : -
MODEL : RS150
NOTE : XDRJXX

NAME : EXHAUST STANDARD OPEN SLIP ON
CODE : ESC32VF3
COLOUR : -
MODEL : SYM VF3i
NOTE : XFHJXX

EXHAUST
STANDARD OPEN



NAME : EXHAUST STANDARD OPEN 28 MM
CODE : ESC28RS1
COLOUR : -
MODEL : RS150
NOTE : XXDDJXX

O2 Sensor Ready

EXHAUST
STANDARD OPEN

NAME : EXHAUST STANDARD OPEN 32 MM
CODE : ESC32RS1
COLOUR : -
MODEL : RS150
NOTE : XDFJXX



NAME : EXHAUST STANDARD OPEN 28 MM
CODE : ESC281VP
COLOUR : -
MODEL : SRL115 FI
NOTE : XDFJXX

EXHAUST
STANDARD OPEN

O2 Sensor Ready



EXHAUST
STANDARD OPEN

NAME  : EXHAUST STANDARD CUTTING OPEN 28MM  
CODE  : ESC28NMAX
COLOUR  : -
MODEL  : N- MAX
NOTE  : XDLJXX
  

O2 Sensor ReadySlip- onStainless Steel Manufacturer

NAME  : EXHAUST STANDARD CUTTING OPEN 28MM  
CODE  : ESC28NVX
COLOUR  : -
MODEL  : NVX
NOTE  : XDLJXX
  









FUEL PUMP JET

NAME : FUEL PUMP JET
CODE : 
COLOUR : 
MODEL : Y15ZR
NOTE : XHPXX

   BAR CODE
 
 
   3.0 BAR FPJ30Y15
 
 

  3.5 BAR FPJ35Y15

  2.5 BAR FPJ25Y15
  2.8 BAR FPJ28Y15

 
 

  4.0 BAR FPJ40Y15

 
 

  4.5 BAR FPJ45Y15

 
 

  5.0 BAR FPJ50Y15



NAME : RACING CAM V65
CODE : CR5YPV65
COLOUR : -
MODEL : LC135
NOTE : IN 3.0 / EX 3.2
                        XXRJXX

NAME : RACING CAM V63
CODE : CSRV635YP
COLOUR : -
MODEL : LC135
NOTE : IN 3.2 / EX 3.1
                        XXRJXX

NAME : RACING CAM S-EVO
CODE : CSR025YP
COLOUR : -
MODEL : LC135
NOTE : IN 5.7 / EX 5.7
   XPTXX

P/S : 没有洞

RACING CAM



RACING CAM

NAME : RACING CAM  VTEC
CODE : CSR02GN5
COLOUR : -
MODEL : EX5
NOTE : IN 10.6 / EX 10.6
   XLPXX

NAME : RACING CAM V65 LSA
CODE : CRY15V65
COLOUR : -
MODEL : Y15ZR
NOTE : IN:3.1 / EX:3.2
   XRJXX

NAME : RACING CAM V63 LSA
CODE : CSRV63Y15
COLOUR : -
MODEL : Y15ZR
NOTE : IN 3.15 / EX 3.0
   XRJXX

NAME : RACING CAM V63 WITH ADJUSTABLE TIMING GEAR 
CODE : CRSV63RS1
COLOUR : -
MODEL : RS150
NOTE : IN:2.5 / EX:2.6
   XDJJXX



NAME : RACING VVA CAM V63
CODE : CSRV63NVX
COLOUR : -
MODEL : NVX/N - MAX
NOTE : IN:2.63 / EX:2.41
   XXBBJXX

NAME : RACING VVA CAM V65
CODE : CSRV65NVX
COLOUR : -
MODEL : NVX/N - MAX
NOTE : IN:2.72/ EX:2.51
   XXBBJXX

RACING CAM

NAME : RACING CAM HIGH LIFT
CODE : CR1VPHL
COLOUR : -
MODEL : SRL115 FI
NOTE : IN:3.4 / EX:3.3
   XXNPXX

NAME : RACING VVA CAM VOP
CODE : CSRVOPNVX
COLOUR : -
MODEL : NVX/N - MAX
NOTE : IN 2.64 / EX 2.5 
  XXBBJXX



  

NAME : RACING VVA CAM V65
CODE : CSRV65Y16
COLOUR : -
MODEL : Y16 / R15 / MT15
NOTE : IN: 0.5 / EX: 2.1 / VVA: 2.2

  XXBBJXX

RACING CAM

  

NAME : RACING VVA CAM V63
CODE : CSRV63Y16
COLOUR : -
MODEL : Y16 / R15 / MT15
NOTE : IN: 0.6 / EX: 2.0 / VVA: 1.9

  XXBBJXX

NAME : RACING VVA CAM VOP
CODE : CSRVOPY16
COLOUR : -
MODEL : Y16 / R15 / MT15
NOTE : IN: 0.6 / EX: 2.3 / VVA: 2.4 

 XXBBJXX



RACING CAM

NAME : RACING CAM HIGH LIFT WITH VALVE SPRING
   AND ADJUSTABLE TIMING GEAR SET
CODE : CRSP011VP
COLOUR : -
MODEL : SRL115-Fi
NOTE : IN:3.4 / EX:3.3
   XXDTJXX









NAME : ADJUSTABLE TIMING GEAR
CODE : TGA015TN
COLOUR : -
MODEL : SRL
NOTE : LPXX

ADJUSTABLE TIMING GEAR

NAME : ADJUSTABLE TIMING GEAR
CODE : TGA011VP
COLOUR : -
MODEL : SRL115-Fi
NOTE : XLPXX



RACING GEAR COMPLETE SET

 
 
 
 
 
 

NAME : RACING GEAR COMP.
CODE : GRC01KPH
COLOUR : 
MODEL : W125
NOTE : 1st.15/32T

  2nd.20/28T
  3rd.20/22T
  4th.25/23T
  w/extra
  1st.15/30T
  XFJJXX







RACING GEAR COMPLETE SET

NAME  : RACING GEAR COMP w/shift cam v1
CODE  : GRC022ND
COLOUR  :
MODEL  : LC135 5S / Y15ZR / FZ150i
NOTE  : 1st.13/34T
   2nd.14/25T
   3rd.19/26T
   4th.21/25T
   5th.21/22T
   6th.20/19T
   XJFTXX

NAME  : RACING GEAR COMP w/shift cam v2
CODE  : GRC032ND
COLOUR  :
MODEL  : LC135 5S / Y15ZR / FZ150i
NOTE  : 1st.13/33T
   2nd.16/29T
   3rd.19/28T
   4th.22/28T
   5th.23/26T
   6th.22/23T
   XJHTXX







RACING GEAR COMPLETE SET

NAME  : RACING GEAR COMP V2
CODE  : GRC025BU
COLOUR  : -
MODEL  : Y125Z
NOTE  : 1st.15/30T
   2nd.17/28T
   3rd.20/26T
   4th.22/24T
   5th.23/23T
   6th.24/22T
   XFPJXX



RACING GEAR COMPLETE SET

 

NAME  : RACING GEAR COMP.
CODE  : RGC01NMAX
COLOUR  :
MODEL  : N-MAX
NOTE  : 12T / 33T

  XBJJXX

NAME  : RACING GEAR COMP.
CODE  : RGC04NMAX
COLOUR  :
MODEL  : N-MAX
NOTE  : 12T / 37T
   XBJJXX

NAME  : RACING GEAR COMP.
CODE  : RGC05NMAX
COLOUR  :
MODEL  : N-MAX
NOTE  : 13T / 33T
   XBJJXX

NAME  : RACING GEAR COMP.
CODE  : RGC02NMAX
COLOUR  :
MODEL  : N-MAX
NOTE  : 12T / 34T
   XBJJXX

NAME  : RACING GEAR COMP.
CODE  : RGC06NMAX
COLOUR  :
MODEL  : N-MAX
NOTE  : 13T / 34T
   XBJJXX

 

NAME  : RACING GEAR COMP.
CODE  : RGC03NMAX
COLOUR  :
MODEL  : N-MAX
NOTE  : 12T / 36T
   XBJJXX

NAME  : RACING GEAR COMP.
CODE  : RGC07NMAX
COLOUR  :
MODEL  : N-MAX
NOTE  : 13T / 32T

  XBJJXX



RACING GEAR BOX

 

NAME : RACING GEAR BOX
CODE : -
COLOUR : -
MODEL : RXZ
NOTE : 1=31T / 2=27T / 3=25T

 

  XBBJXX

NAME : RACING GEAR BOX
CODE : -
COLOUR : -
MODEL : RXZ
NOTE : 1=32T / 2=27T / 3=25T
   XBBJXX

made in Taiwan





 
 

 

NAME : RACING GEAR
CODE : -
COLOUR : -
MODEL : LC135
NOTE : 4TH-20T

  XXJFXX

CODE : -
COLOUR : -

NAME : RACING GEAR

MODEL : KRR 150
NOTE : 5TH-6TH / 20T-21T

  XXPJXX 

NAME : RACING GEAR
CODE : -
COLOUR : -
MODEL : LC135-5S
NOTE : 5TH-25T

  XXJFXX

 

NAME : RACING GEAR
CODE : -
COLOUR : -
MODEL : Y110
NOTE : 4TH-21T/24T
   XJPXX

NAME : RACING GEAR
CODE : -
COLOUR : -
MODEL : Y110
NOTE : 3TH-19/25T
   XJPXX

RACING GEAR



  

NAME : RACING GEAR
CODE : -
COLOUR : -
MODEL : RGS
NOTE : 5TH-19T

  XFPJX

NAME : RACING GEAR
CODE : -
COLOUR : -
MODEL : RGV
NOTE : 6TH-18T
   XFPJX

COLOUR : 

NAME : CLUTCH SMALL GEAR 23T
CODE : GR23T5YP

MODEL : LC135 4S (CLUTCH)
NOTE : XXLPXX

RACING GEAR



NAME : CLUTCH STOPPER
   & FLYWEIGHT
CODE : -
COLOUR : -
MODEL : LC135
NOTE : XLDXX

: (10 foc 1)

CLUTCH STOPPER & FLYWEIGHT









NAME : ROCKER ARM SET VALVE IN: 23 / EX:20
CODE : RASST55YP
COLOUR : -
MODEL : LC135
NOTE : XBNPXX

ROCKER ARM

NAME  : RACING ROCKER ARM WITH ADJUSTING SCREW
CODE  : RRAWAS5YP
COLOUR  : -
MODEL  : LC135/ Y15ZR
NOTE  : XDTPXX



ROCKET ARM SHAFT

NAME : RACING ROCKER ARM SHAFT W/CAM PLATE
CODE : RASWCP1S7
COLOUR : -
MODEL : LC135/Y15ZR
NOTE : XHFXX
   10 FOC 1







THROTTLE BODY KIT

NAME : THROTTLE BODY - DOUBLE INJECTOR - 38MM
CODE : TB0238Y15
COLOUR : -
MODEL : Y15ZR
NOTE : XDLJXX

NAME : THROTTLE BODY - DOUBLE INJECTOR - 40MM
CODE : TB0240Y15
COLOUR : -
MODEL : Y15ZR
NOTE : XDPJXX

COLOUR : -

NAME : THROTTLE BODY - DOUBLE INJECTOR - 42MM
CODE : TB0242Y15

MODEL : Y15ZR
NOTE : XDPJXX





THROTTLE BODY KIT

NAME : THROTTLE BODY Ø 38mm
   STAGE 3
CODE : TB38Y15ST3
COLOUR : -
MODEL : Y15ZR
NOTE : XFBJXX

NAME : THROTTLE BODY Ø 40mm
   STAGE 3
CODE : TB40Y15ST3
COLOUR : -
MODEL : Y15ZR
NOTE : XFBJXX

NAME : THROTTLE BODY Ø42mm
   STAGE 3
CODE : TB42Y15ST3
COLOUR : -
MODEL : Y15ZR
NOTE : XFBJXX









NAME  : FRONT FORK SPRING
CODE  : FFS01RS1
COLOUR  : -
MODEL  : RS150
NOTE  : XXPJXX

NAME  : FRONT FORK SPRING
CODE  : FFS01Y15
COLOUR  : -
MODEL  : Y15ZR
NOTE  : XXPDXX

NAME  : FRONT FORK SPRING
CODE  : FFS015YP
COLOUR  : -
MODEL  : LC135
NOTE  : XXPDXX

RACING SEATFRONT FORK SPRING







RACING VALVE SPRING

30.5KG
@ 29.9MM

Compression Pressure

Lift up to 10.2MM
Max RPM @ 13500
101psi @15.2mm

NAME  : RACING VALVE SPRING  (S2)
CODE  : RVSHCVF3
COLOUR  : -
MODEL  : VF3i/ BELANG
NOTE  : HIGH COMPRESSION 
   XNPXX
   SP2.9*40.2L









RACING VALVE SPRING
OVAL SHAPE

NAME  : RACING VALVE SPRING (OS1) - OVAL SHAPE
CODE  : RVSOS1NVX
COLOUR  : -
MODEL  : NVX/ N-MAX
NOTE  : XBLJXX
   2.8x3.9xID13.6x7.5Nx37

43.9KG
@ 25MM

Compression Pressure

Lift up to 8.5MM
Max RPM @ 13800
56.25psi @9.3mm



NAME : SEAT VALVE SPRING TITANIUM 1.5MM
CODE : VSST5YP01
COLOUR : -
MODEL : LC135 / Y15ZR
NOTE : XDFJX

NAME : SEAT VALVE SPRING TITANIUM 3MM
CODE : VSST5YP03
COLOUR : -
MODEL : LC135 / Y15ZR
NOTE : XDLJX

NAME : SEAT VALVE SPRING TITANIUM 4MM
CODE : VSST5YP04
COLOUR : -
MODEL : LC135 / Y15ZR
NOTE : XDRJX

NAME : SEAT VALVE SPRING TITANIUM 5MM
CODE : VSST5YP05
COLOUR : -
MODEL : LC135 / Y15ZR
NOTE : XFDJX

SEAT VALVE SPRING

**Titanium













RADIATOR

NAME : RADIATOR TANK ALUMINIUM OS02 (600ml) +
   DIGITAL WATER TEMPERATURE METER
CODE : RAOS02RS1
COLOUR : -
MODEL : RS150
NOTE : XHLJXX



NAME : RADIATOR TANK ALUMINIUM OS02 (600ml) +
   DIGITAL WATER TEMPERATURE METER
CODE : RAOS2Y15
COLOUR : -
MODEL : Y15ZR
NOTE : XHPJXX

RADIATOR



NAME : DIGITAL WATER TEMPERATURE ROUND METER
CODE : DWTM02BL
COLOUR : BLUE
MODEL : -
NOTE : XHPX

NAME : DIGITAL WATER TEMPERATURE ROUND METER
CODE : DWTM02RD
COLOUR : RED
MODEL : -
NOTE : XHPX

DIGITAL WATER TEMPERATURE
METER





COOLANT

NAME : CARDINALS RACING COOLANT(1L)
CODE : WTL1LTRD
COLOUR : RED
MODEL : YAMAHA
NOTE : XXBFX

NAME : CARDINALS RACING COOLANT(1L)
CODE : WTL1LTGR
COLOUR : GREEN
MODEL : HONDA
NOTE : XXBFX

**PRE-MIXED
59.5%























NAME : WIRE THREAD INSERT KIT
CODE : WTIKM6
COLOUR : 
MODEL : M6 X 1.0
NOTE : XXRTXX

NAME : WIRE THREAD INSERT KIT
CODE : WTIKM8
COLOUR : 
MODEL : M8 X 1.25
NOTE : XXRJXX

WIRE THREAD



NAME : UNIVERSAL ENGINE MOUNTING RACK VERSION 2.1
CODE : UEMR02
COLOUR : -
MODEL : UNIVERSAL
NOTE : XBDJXX

Productlatest

ENGINE MOUNTING RACK



PADDOCK STAND

NAME  : REAR PADDOCK STAND (ALLOY)
CODE  : PDS02
COLOUR  : -
MODEL  : - 
NOTE  : XBPJXX






